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MeTor0 oCiOHMKA € HaBYaHHSI YUTAHHS Ta PO3yMIHHS HAYKOBO-TIOMYJIIPHUX
TEKCTiB, 3aCBOEHHSI 3araJIbHOHAYKOBOI JIEKCUKH, (POPMYBaHHS HABHUOK TOBOPIHHS 3
IIMPOKOTO KOJIa TeM 3 Tally3l HayKu 1 TexHiku. EdekTuBHe npakTUuyHEe OBOJIOAIHHS
MOBOIO 3a0€3IeUy€ThCS CUCTEMOIO JIEKCUYHUX 1 KOMYHIKaTUBHUX BIPaB, IO
CTUMYJIOIOTh IHTEpPEC 1 TBOPUY JISUIbHICTh TUX, XTO BUBYAE MOBY.

[Toci6HMK MpU3HAYEHUH IS CTYIEHTIB MOJIOAUINX KypciB TexHiuHux BH3, a

TaKOX JIJIS IIIUPOKOTO KOJIa TUX, XTO BUBYAE M YIOCKOHAIIOE aHTJIIHCHKY MOBY.
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IlepeamoBa

[IpioputetHoro cdeporo iHTEpecy U yBaru y BHUIIOMY TEXHIYHOMY
HABYAJILHOMY 3aKJIa/ii € Tally3b HAyKH 1 TEXHIKH.

Hayka € opni€ero 13 BU3HAUHUX OCOOJMBOCTEH Cy4acHOi KYJIBTYpH 1,
MOJKJTUBO, HaWOUIBbII AWHAMIYHHM ii KOMITIOHEHTOM. HemoximmBO 0OroBOproBaTH
COIllaJibHI, KYJIBTYPHI, AHTPOIIOJOTIYHI MNpOOIeMH, SKI0 He OpaTu 10 yBaru
pPO3BUTOK HaykoBoi mymku. Hayka — me cdepa THOACHKOi AiSTIBHOCTI, METOHO 1
3MICTOM $SIKOI € IMi3HAHHA CBITY K €IMHOI CUCTEMH HAa OCHOBI €KCIIEPUMEHTIB 1
peambHUX  CYIKEHb. Y  SKOCTI  COIIIaJbHO-MOOUTI3YIOWOi  CHJIM  HaykKa
BUKOPHCTOBY€ETHCS IJIs1 311IMCHEHHSI IIPOIPaM COL1aJIbHO-€KOHOMIYHOTO PO3BUTKY, a
TAKOX JIJIs1 BUPILLIEHHS TNI00ATBHUX MPOOJIEM CYyYacHOCTI.

[lepBUHHUM y PO3YMiHHI NPUPOAM HAYKU 1 TEXHIKU € IXHIM BIUIMB Ha camy
JIOAUHY, HAa CUCTEeMY il 1HTepeciB, MOTped 1 MOXKJIMBOCTEH N0 J1i B opraHizaiii
CBOTO OYTTS 1 HOTO BJIOCKOHAJICHHS.

Cyuachuii (haxiBelb TOBUHEH OyTH MIiATOTOBJIEHUH TaK, MO0 ITHU B HOTY 3
POrpecoM HAyKH 1 TEXHIKM, MaTH IMOBHY IH(QOpPMALlIO MpPO BCl, Y TOMY YHUCIHI
HOBITHI, JOCSTHEHHS y CBOIH rajy3l 1 MaTH JOCUTh MIMOOKI 3HAHHS BIJIMOBIIHUX
(yHIaMEHTAJIbHUX HAyK, YMIIOYHM BCE 1€ BUKOPUCTOBYBAaTH Ha npaktuili. daxisenpb
Ma€ 3aCTOCOBYBaTH BECh apCEHaJl CydyaCHHUX HAyKOBUX METOJIB AJis JOCSTHEHHS
HEOOX1THUX PE3YJbTaTIB Y KOHKPETHIN c(epl, Jerko aJanTyrouuch Mpu UbOMY 10
YMOB, 5IK1 3MiHIOIOThCS. Lle 3aBnanHss Moxe OyTH BUPIIIEHO TUILKK Ha 0a3l MILHOi
(byHIaMEeHTaJIbHOT OCBITH.

HaykoBe chHuikyBaHHS B Cy4aCHOMY CBITI BiOyBaeTbCs 37€01JIBIIOTO
aHTTINChKOI0 MOBOIO. Takok TepeBakHa 4YacTHMHA HAyKOBOI iHQopMarli crae
JOCTyIIHA aHIJIHACHKOIO MOBOIO, sIKa OCTaHHIM 4YacoM OTpHUMalla CTaryc
MIKHApPOJIHOI.

Jlna oprasizaiiii e(peKTUBHOrO MPoQeciitHO - 30pIEHTOBAHOIO CILIKYBaHHS 1
po3ymiHHs 1H(DOpMaIlIii 31 CHeIiagTbHOCTI He0OXiHa clieliaiabHa MiIT0TOBKA, 110 1 €

TOJIOBHUM 3aBJaHHSIM HaBuaHHs 1HO3eMHOI MoBH y BTH3. OmHum 13 0CHOBHHX
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KOMITOHEHTIB TaKOi TIATOTOBKHM € OBOJIOAIHHS HAyKOBOIO TEPMIHOJIOTIEIO 3a
BIJIMTOBITHOIO CTICIIAIBHICTIO. AJie, Ha HAIIl MOTVIS, Ha MEePIINX Mopax aBTCHTUYHI
Marepiajgy MOBHHHI MaTH HAayKOBO-TIOMYJISIPHUHN XapakTep, OyTH 3pO3yMiIMMU HE
TUIBKK A1 CTYACHTIB K MaWOyTHIX CHEIladicTiB MeBHOro (axy, ame W ans
BUKJIa/laua 1HO3eMHOI MOBH, SIKWMH, SK NPaBHJIO, HE Ma€ MOAATKOBOI TEXHIYHOI
ocBiTH. TimpkM micas TOrO, SK CTYACHTH TPUBYAIOTHCA JIETKO OIEpyBaTH
3araJbHOHAYKOBOIO JIGKCUKOIO B PEIENTUBHUX 1 MPOAYKTUBHUX BHJAX JiSUTBHOCTI,

JIOIITBHO TIEPEXOJUTH 10 POOOTH 3 BY3bKOIIPODIILHUMHU MaTepiallaMu.

Hayka 3amiHMia 3BMYAiiHI CJIOBA YHIBEPCAJIbHOIO TEPMIHOJOTIED, MPH
IOMY BeJINY€3Ha KUIbKICTh HAYKOBUX JIOCIIHPKEHb Y CBITI IPOBOAUTHCS Ha MEXKI1
JEKUTbKOX Tally3edl 3HaHHsS: (i3ukH, XiMii, Oiojorii, MeaIuuuHH, 1HGOPMATHKU
TOIIO. 3BIJICM BUHUKA€ KUIbKA MPUYMH, Yepe3 sKI JOULIBHUM € BHUIEPEIUTH Y
BTH3 naBuanHs1 By3bKOIIPOQPUIHHOI JIGKCUKH POOOTOIO 13 3aralibHOHAyKOBOIO a00
HAyKOBO-TIONYJISIPHOIO JiiTepatypoto. [lo-nepiiie, O1IbII1CTh BUTYCKHUKIB K1, K1
CTalOTh CTyleHTamMHu TexHIYHuX BH3, B3arami He3HailoMi 13 3arajlbHOHAyKOBOIO
JEKCHKOI0, TOMYy po0OoTa 31 CIelmalbHUMHU TEKCTaMH, HaBITh SKIIO BOHHU
aJlanToBaHl, YacTO BUKJMKae 3HauHl TpyaHouul. [lo-gpyre, HaykoBO-HOIMyJsipHA
JiTeparypa MICTUTh BEJIUKY KUIBKICTh TaKMX 3arajlbHOTEXHIYHUX TEPMIHIB, SIKI
CTY[ICHT HEMHHYy4Y€ 3yCTpiHE B MaillOyTHbOMY sIK (paxiBemb miJ 4yac poOOTH 3
JITEpaTypoIo SIK 3a CBOEIO CHEIIAIbHICTIO, TaK 1 CYMI>XHUMH CIELI1ATbHOCTSIMU, SIK1
3roJIOM MOXKYTh YBIMTH y c(epy Horo npodeciitaux inTepecis. [lo-Tpere, y cBiTII
CydyacHUX TEHJACHIIA TrymaHi3alli OCBITU OAHIEI 13 3a7a4y 1HO3EMHOI MOBHU SIK
HABYAIBHOI JUCIUIUIIHU € PO3IIUPEHHS CBITODISIY, IIJIBHINCHHS 3arajlbHOl
epyaullli CTYICHTIB, [0 CTA€ MOXJIMBUM TPU 3HAHOMCTBI MaitOyTHHOTO (haxiBIIs 3
JOCSTHEHHSIMU JIIOACTBA Y BCIX raiy3six HayKH, a He TUIbKkM y cdepl Horo

creram3arii.

TakuM ynmHOM, Kypc Npo(UIbHO-30pIEHTOBAHOTO HaBUYAaHHS 1HO3EMHOI MOBH
B TexHiuHOMYy BH3 panionanpHO ckianaTu 3 ABOX €TaliB: HA MEPIIOMY CTYIAEHTH

OpaloTh 13 MarepialaMy 3arajlbHOHAYKOBOTO XapakTepy, SKi OXOIUIIOIOTh



6

PI3HOMaHITHI Tally31 HAyKOBOTO 3HAHHS, CTBOPIOIOYM TOW caMuil (yHIaMEHT, Ha
AKOMYy  TI3HIINE, HA  JPYyroMy  €Tami,  3aCBOIOETHCS  KOHKPETHHM

BY3bKOCTEIIaII30BaHUN KypC JJIsI KOHKPETHOT Ipynu MakOyTHIX (paxiBIIiB.

[Tpuxnamom MaTepiaiiB 3arajJbHOHAyKOBOTO XapaKTepy € MPOMOHOBAHUN
noCIOHMK aHIIiiichkol0 MoBow «Science and Technology», sxiii Bkirouae 30
TEKCTIB Ha Hapi3HOMaHITHIII HAyKOBO-MOMYIsipHI TeMu. [1ociOHMK mpu3HaYeHMI
JUIS CTYJIEHTIB MOJOAMIMX KypciB TexHiunux BH3, a Takox g mmpoxoro kona
TUX, XTO BUBYA€ N YNOCKOHAIIIOE€ aHIIIMCbKY MOBY. BiH ckilajaeTbest 3 TpbOX
YacTUH. Y mepuiid yacTuHi — «Benuki BUHAaxXoAW» — CTYIACHTH 3HAHOMIIATHCS 3
OCHOBHHMHU €TalaMy PO3BUTKY TEXHIKH 1 TEXHOJIOT1, OCHOBHUMHU J10CATHEHHIMHU
HAyKOBOi1 JYMKH 3a BCIO ICTOPIIO PO3BUTKY JIIOACTBA. Y Jpyrid yacTuHi — «SIk
Ipaltoe TEXHIKa» — BUKIAJIEHI OCHOBHI NMPUHLUIHA POOOTH HAWUMOMYISPHIMIMX
TEXHIYHUX MPUCTPOiB. Y TpeTid yacTuHi — «HaliBuparHimi BUHAXITHUKH BCIX
4aciB» — OMUCaHI J0JI1 ASSKUX BEJIUKUX YUYEHUX 1 BUHAXIAHUKIB PI3HUX €IO0X.

Koxxen Tekct 3abe3nedyeHuil HAOOpOM J0- 1 MICISTEKCTOBUX 3aBIaHb SIK
JIEKCUYHOTO, TaK 1 KOMYHIKaTMBHOTO xapaktepy. lIpaktuka pobGotu 3 maHuM
NOCIOHUKOM CBIIUUTh, 11O 1H(OpMaIllis, sika MICTUTBCS B HAyKOBO-TIOMYJISIPHHUX
TeKCTax, BUKJIHMKae iHTepec ctyneHTiB BTH3 piznux npodinis i criemianbHOCTEH, a
poGoTa 3 HHMMH MOXE pO3DIAgaTuci SK TIOYaTKOBUM eTanl  HaBYaHHSA
CHeliagi30BaHOl aHIChbKOi MOBH y TexHIYHOMY BH3 Oynb-sikoro mpodimro.

ABTOp BHCIIOBIIIOE€ HaJll0, IO NpUAOaHI CTyAEeHTaMH 3HaHHA OynyTh
BUKOPHCTaH1 B iXHIA MaWOyTHIN mpodeciiiHiii MISIbHOCTI, PO3IMIUPATH KPyrosip,

I1JIBUIIATHh PIBEHb BOJIOIHHS aHTIIHCHKOI0 MOBOJO.



PART I11. GREAT INVENTORS OF ALL TIME

UNIT 21. THOMAS EDISON

Word list:

1. | available JIOCTYITHHN

2. | sibling Opart um cecTpa

3. | wealthy Oaratuii, 3aMOKHHIM

4. | toirritate JpaTyBaTH

5. | odd BHUIIAIKOBHI

6. | to earn a living 3apoOJIATH Ha JKUTTS

7. | income JOXi

8. | extra IOJIaTKOBUH

9. | severe BaKKUH, CUIILHUI

10, deafness IIyX0Ta

11, ultimately 3pPEIITOI0

12, disability HEeNpaIe31aTHICTh

13, backing iATPUMKA

14, proper BJIACHUM

15, to extend TPOJIOBKUTH, PO3IIHPUTH

16, trial BUIIPOOYBaHHS, EKCTIEPUMEHT

17, to file peecTpyBaTu

18 crucially KPUTHYHO, IPUHITAIIOBO
Task 1. Match the words with close meaning:

1. | ultimately a. | additional

2. | backing b. | experiment




3. |available C. |support

4, | file d. |rich

5. | wealthy e. |own

6. | trial f. | accessible
7. |extra g. | register

8. | proper h. | finally

Task 2. Match the following definitions with one of the words from the
Word list:

1. one of two or more individuals having one of both parents in common;

2. not expected, regular, or planned;

3. the amount of money or its equivalent received during a period of time
in exchange for labour or services;

4, absence of the power of hearing;

5. to be the cause of impatience;

6. the condition of being unable to perform a task or function.

Task 3. Choose the right word for each sentence:
1. His future depends on his decision.

. commonly

o D

. crucially
c. additionally

2. New equipment helped to experimenting more successfully.
a. exclude

b. examine

c. extend

3. He looked pale and exhausted after illness.

a. several

b. severe

C. sick

4. Her brother earns a by repairing cars.



a. living
b. leaving

c. income

Task 4. Complete the table:

Noun Adjective
availability
deaf
wealth
disable
property
severity

Task 5. Scan the text and choose the correct answers to questions 1 —4

below:

1. How many siblings did Edison have?
a. /.
b. 6.
2. How long did he attend school?
a. Three years.
b. Three months.
3. What did not he sell as a youngster?
a. Newspapers.
b. Cars.
4. What did Edison do to make his inventions available?
a. He published the results of his research in scientific journals.

b. He used mass production.

Thomas Edison

Thomas Edison (1847-1931) was an American inventor and businessman

who developed and made commercially available many key inventions of modern

life.
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Thomas Edison was born in Milan, Ohio on Feb 11, 1847, the youngest of
seven siblings. His parents were middle class, though they were not wealthy. He
attended only three months of formal schooling, he irritated his teacher with his
repeated questioning and inability to just follow instructions. He was largely
disinterested at school, and was mainly self-educated through reading. He took
upon it himself to read every book on the library shelf.

As a youngster he tried various odd jobs to earn a living. This including
selling candy, vegetables and newspapers. He had a talent for business, and was
able to spend his extra income on research.

Unfortunately, from an early age, Edison developed a severe deafness,
which ultimately left him almost 90% deaf. He would later refuse any medical
treatment, saying it would be too difficult to retrain his thinking process. Though
he never saw his deafness as a disability.

Edison had a big chance when he saved a young boy on the railway track
from being struck by a runaway train. His grateful father had Edison trained as a
telegraph operator, and aged 19, Edison moved to Kentucky to work as a telegraph
operator for Western Union.

In the 1870s, he sold the rights to the quadruplex telegraph to Western
Union for $10,000. This gave him the financial backing to establish a proper
research laboratory and extend his experiments and innovations. Edison once
described his invention methods as involving a lot of hard work, and repeated trial
and error until a method was successful.

After the death of his first wife in 1884, he remarried Mina Miller in 1886.

He had six children, three from each marriage. Edison died of diabetes in
October 18, 1931.

Edison filed over 1,000 patents. He developed and innovated a wide range
of products from the electric light bulb to the phonograph and motion picture
camera. His Edison Electric company was a pioneering company for delivering DC
electricity directly into people's homes. He filed over 1,000 patents for a variety of

different inventions. Crucially, he used mass-produced techniques to make his
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inventions available at low cost to households across America. His most important

inventions include the electric light bulb, the phonograph, the motion picture

camera, an electric car and electric power station.

Task 6. Read the text again and find answers to the following questions:

1.

S e

How did Edison get his education?

What jobs did he try during his life?

What disease did he suffer from?

Who helped him to be trained as a telegraph operator?
How did Edison describe his invention methods?

What was his marriage life like?

Task 7. Say what the following numbers from the text are associated

with:

49: 90; 1,000; 10,000; 1886; 1847; 6; 1931.

Task 8. Continue the list of Edison’s inventions. Explain how they

change our life:

v’ quadruplex telegraph

Vo



UNIT 22. THE WRIGHT BROTHERS

A7)
Il g |
L S e A muaﬁ
Word list:
1. | to achieve YCIIIITHO BUKOHYBATH, J0CATATH
2. | axis BICh
3. | minister acTop, MPOTOBITHUK
4. | to encourage CIIPUSATH, CTUMYJIIOBATH
5. | issue MUTaHHS, Tpo0emMa
6. | to pursue nposIBIIATH (iHTEpecC)
7. | skills HaBUYKH
8. | fund Kariraj, KOLITH
9. | rural ClTbCHKHIMA
10, tip KiHellb (Hamp., KpuJja)
11, to be conscious of YCBIiJOMJTIOBaTH
12, viable peHTaOenbHMI,  KOHKYPECHTHHUH,
JKUTTE3MATHUN

13/ reluctant HEOXOUHi
14, to reveal PO3KPHUBATH, ONIPUITIOIHUTH
15/ approach X1
16, claim 1030B, MTPETCH3IsA
17, to witness OyTH CBiJIKOM
18, prematurely TIePETIACHO
19, fever JUXOMaHKa

Task 1. Match the words with opposite meaning:

1. |achieve a. | misunderstand
2. | encourage b. |urban

3. | be conscious c. | hide

4. |rural d. |fail

5. | viable e. |timely

12
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reveal f. prevent

prematurely g. | uncompetitive

Task 2. Fill in the gaps with the suitable words from the box:

pursuing claim issues
skills witnessed approaches
minister

N o gk~ DR

His grandfather work as a in a local church.

What did you discuss during the last meeting?

My brother has been various interest since childhood.
To do this job one needs definite

There are various to teaching foreign languages.

Her lawyer promised that her would be satisfied.

He was called to the police because he had a terrible accident.

Task 3. Match the following definitions with one of the words from the
Word list:

1.

A straight line about which a body or geometric object rotates.

2. Asum of money or other resources set aside for a specific purpose.
3. The end of an object.

4,
5

. not wishing, opposing.

Abnormally high body temperature.

Task 4. Translate into English:

1.

3aco0u 11 OyniBHUIITBA HOBOIO MEAMYHOIO LEHTPY Oynu 310paHi

MPOTATOM TI1BPOKY.

2.

CIIOPTY.

Horo 0aThKu CHIpUsIIA TOMY, 11100 BiH cripoOyBaB ceOe B pI3HUX BUIAX
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3. Taemna 1H(MOpMAaITis Tpo HOTO MUHYJIE OyJia PO3KPHUTA 1 OTMPUITIOTHEHA
B 3ML

4, S BBakaro, 1110 0OrOBOPIOBATH 1€ TUTAHHS 3apa3 MepeauacHo.

S. Bu ycBimoMIIIO€TE BC1 HACTIAKH BAIIOTO BUYMHKY?

6. Bami izmei 31a10ThCsl JKUTTE3TATHUMHU, ajl€ K1 IMIJXOAW BH IUIAHYETE

BUKOPHUCTOBYBATH IS 1X peastizamii?

Task 5. Scan the text. Put the main ideas (A-E) in the same order as
they are in the text:

A. The Wright brothers began to experiment with heavier than air aircraft.

B. The first public flight of the brothers established their fame in America.

C. The Wright brothers were encouraged to read widely and discuss issues.

D. The Wright brothers made the first historic airplane flight.

E. A commercially successful bicycle shop was opened.

The Wright Brothers

The Wright Brothers successfully designed, built and flew the first powered
aircraft, showing that man could fly. It can be considered one of most important
inventions of the 20™ century.

The Wright brothers, Orville (1871-1948) and Wilbur (1867-1912) are
credited with building and flying the first heavier than air aeroplane and achieving
the first recorded flight. Their particular contribution was in the effective control of
an airplane, through their three-axis control system. This basic principle is still
used today.

Their father worked as a minister in various churches, he encouraged his
children to read widely and discuss issues. This climate of intellectual creativity
and stimulus encouraged the Wright brothers to pursue a range of interests and
studies. When they were young, their father bought them a small “helicopter” built
in France. They later commented that this helicopter sparked an interest in flight

and they sought to build similar models themselves.
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In 1892 they opened a bicycle shop that was commercially successful, but
also enabled them to develop their skills as designers and engineers.

Around the turn of the century, there was great interest in the possibility of
flight. Most of this centred on gliders. But, the Wright brothers began to explore
the possibility of mechanised flight with heavier than air aircraft.

They used funds from the bicycle shop to start testing in a rural place
where it was more windy which helped give planes lift off.

On December 17, 1903, the Wright Brothers made the first historic airplane
flight, where Orville piloted the plane (called “the Flyer”) with Wilbur running at
the wing tip.

The first flight, by Orville, of 37 m in 12 seconds, at a speed of only 10.9
km/h over the ground, was recorded in a famous photograph.

Over the next few years, they continued to develop their aircraft. However,
they were conscious of needing to gain successful patents to make their aircraft
commercially viable. They became reluctant to reveal too much about their flights
and disliked reporters taking photos of their designs. Their secret approach and
competing claims by other aircraft designers meant that for many years their
inventions and flights were met with either indifference or skepticism.

In 1909, Wilbur made a public flight up the Hudson river in New York,
circling the Statue of Liberty. The 33 minute flight, witnessed by 1 million New
Yorkers, established their fame in America.

The brothers never married. Wilbur once said he "did not have time for
both a wife and an airplane”. Wilbur died prematurely from typhoid fever in 1912.
Orville Wright died of a heart attack at age 77.

Task 6. Which of the following sentences are not correct? Correct the
ones with mistakes.

1. The Wright brothers invented the basic principles of the effective control
of an airplane.

2. There was a climate of intellectual creativity in the Wright’s family.
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3. They used funds from the government to start testing their first airplanes.

4. The first historic airplane flight was piloted by Wilbur Wright.

5. They did not want to reveal information about their flight because they

wanted their planes to be commercially viable.

6. One of the brothers died prematurely of a heart attack.

Task 7. Say what the following numbers from the text are associated

with:

1892; 1903; 33; 1; 77; 1909; 1912; 12.

Task 8. Sum up the information from the text according to the plan:

1.
2.
3.
4,
America.
5.

The Wright brother’s childhood.
Their commercial activities.
First experiments with planes.

The period of time before the Wright brothers became famous in

Their death.



UNIT 23. GALILEO

Galileo Galilei
(1564-1642)

Word list:
1. | superior qy0BUH, BUCOKOSIKICHUIN
2. | to sentence 3aCyIMTH
3. | life imprisonment JIOBIYHE yB'SI3HEHHS
4. | support M1ITPUMKA
5. | noble OnaropogHui
6. | innate BPOJIKCHUI
7. | sacrifice KEepTBa
8. | insistence HaTOJISITaHHS
9. | profitable pUOYTKOBUI
10, fascinated 3auapoBaHMi, HeOal TyKui
11, contemporary Cy4aCHHK
12, persecution nepecilyBaHHs
13/ to resign 3BUIBHUTHUCS, TIOAATH Y BIJICTaBKY
14, gravity rpaBiTalis
15, inertia iHepITis
16. forerunner MOTIEPETHUK
17, to come to the conclusion TPUXOJUTH JIO BUCHOBKY
18/ flat TUTOCKUI
19, to revolve obepraTucs
20, to imprison yB'SI3HIOBATH
21, to convict of 3BHHYBauyBaTH B
22| heresy €pech
23, to recant B1JIPIKATHUCS
24) belief NEePEKOHAHHS
25, to censure 3aCy/)KyBaTu, TYIUTH

17



26.

to summarise

y3arajabHIOBAaTH

217,

strength of materials

OTIip MarepiaiiB

Task 1. Match the words with opposite meaning:

1. | noble a. |release

2. | superior b. | praise

3. |sentence c. |apply

4. | imprison d. | mountainous
5. | flat e. |simple

6. |resign f. | follower

7. |censure g. | unsatisfactory
8. | forerunner h. | justify

Task 2. Complete the table:

18

Verb Noun
imprison
convict
insist
sacrifice
conclude
revolution
support
belief
persecute

Task 3. Choose the right word for each sentence:

1. He managed to expand production as his business was quite

a. loss-making
b. profitable

C. encouraging

2. My friend achieved a lot due to his hard work and

a. initial
b. original

C. innate

3. She has been

a. fascinated

with music since childhood.

abilities.




(ex

o » oo o T ©»© o1 6o T 9 b~ O

o 2 N O

C.

8

impriso

. talented

. Interested
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. The brakes suddenly refused and the car started to move by

. herself
. habit

. inertia

. Newton is considered to discover the law of in 1680.

. gravity

. radiation

. attraction

. She failed in Strength of

. Metals

. Materials

. Minerals

. The church made the scientist

. recall

. remember
recant
. He was convicted of

nment.

a. jealousy

b

. heresy

c. bad behavior

Task 4. Translate into English:

and had to retake the exam.

his beliefs.

and was sentenced to many years of

1. Sk TUIbKU MU y3arajlbHUMO PE3YJIbTaTH €KCIIEPUMEHTIB, MU OMYOJIIKYEMO

CTaTTIo.

2. He BCi cy4acHUKHM BEJIIMKOTO TMHUCHbMEHHUKAa OyJiM B 3axBaTi Bij HOro

TBOPIB.
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3. . Momy noBenocst mofaTi y BiCTaBKy i BHIXaTH 3 KpaiHH, TOMY IO BiH
OosiBCsl IepeciiayBaHHs 3 00Ky BOPOTIB.

4. Yomy BU IPHUHUIILIIA JO TAKOTO BUCHOBKY?

5. BoHr HailHSIM 4yJOBOTO MEHEIKEpa, KUl IIBHIKO 3pOOHB iX Oi3HEC
MPUOYTKOBUM.

6. Bin OyB 3BHHyBaueHUIl B cepii BOMBCTB 1 3aCy[KCHHH 1O JOBIYHOTO

YB'SI3HEHHS.

Task 5. Scan the text and choose the one best answer (A), (B), (C) or (D)
to each question:

1. Which fact is not concerned with Galileo’s life?

A. he was blind by the time he died;

B. he spent his last years under house arrest;

C. he was married twice;

D. he was born to a noble family.

2. Which town is not connected with his life?

A. Padua;

B. Milan;

C. Pisa;

D. Florence.

3. Which discovery does not belong to Galileo?

A. telescope;

B. gravity;

C. magnetism;

D. inertia.

Galileo
Galileo Galilei (1564-1642), a great astronomer and scientist, developed a

superior telescope and made many significant discoveries in astronomy. He was
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sentenced to life imprisonment by the inquisition for his support for the
Copernican theory that the sun was at the centre of the solar system.

Galileo was born in Florence, Italy in 1564 to a poor but noble family.

His parents recognised their child's innate intelligence and talents and so
made sacrifices to have him educated. At his father's insistence, Galileo studied the
profitable career of medicine. But, at the University of Pisa, Galileo became
fascinated with a wide range of subjects. He was also critical of many of Aristotle's
teaching that left him isolated amongst his contemporaries. After three years of
persecution, he resigned and went to the university of Padua. Here he taught maths.
His entertaining lectures attracted a large following and he was able to spend the
next 18 years pursuing his interests in astronomy and mechanics.

During this time, Galileo made important discoveries about gravity, inertia
and also developed the forerunner of the thermometer. But it was in astronomy that
Galileo became famous.

Galileo came to the same conclusions of Copernicus — that the sun was the
centre of the universe and not the earth. By inventing the world's first telescope,
Galileo was able to make many explorations of the universe. He found that:

Saturn had a beautiful ring of clouds.

The moon was not flat but had mountains and craters.

Jupiter had many moons which revolved around Jupiter rather than directly
the sun.

After publishing his studies Galileo was arrested and imprisoned for
several months. He was convicted of heresy and was forced to recant his beliefs.
He spent the remaining years of his life under house arrest.

Despite being censured by the church, Galileo continued to make
discoveries until death overtook him in 1642. Under house arrest, he was able to
write Two New Sciences, this summarised his earlier work on the new sciences
now called kinematics and strength of materials. He was blind by the time he

passed away.
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Task 6. Read the text and find one meaningful mistake in each sentence
and correct it.

1. Galileo was sentenced to life imprisonment by the government for his
support for the Copernican theory.

2. At his father’s insistence, Galileo studied the profitable career of law.

3. For many years he was able to pursue his interests in astronomy and
medicine at the University of Padua.

4. Galileo came to the same conclusion of Copernicus that the earth was the
centre of the universe.

5. He was convicted of theft and was forced to recant his beliefs.

Task 7. Match the sentences halves 1-7 with a—g:

became the foundation of

1. | He became isolated amongst a. | attracted a large following.
his contemporaries

2. | Galileo’s parents recognised b. | by inventing the world’s first
his innate intelligence telescope.

3. | The scientist found that the c. |what we call kinematics and
moon was not flat strength of materials.

4. | His entertaining lectures d. [for his critic of Aristotle’s

teaching.

Galileo was able to make e. | and made sacrifices to have him
many explorations of the educated.
universe
Galileo continued to make f. | but had mountains and craters.
discoveries until his death
His summarised early works g. | despite being censured by the

church.

Task 8. Sum up the information from the text completing the following

sentences:

1. Galileowas bornin ... .

2. His parents recognised his innate talent and ... .

3. At his father's insistence, Galileo studied ... .

4. But, at the University of Pisa he became fascinated with ... .




. He had to resign and go to the University of Padua because ... .

. For 18 years he managed to pursue ... .

5

6

7. As an astronomer, Galileo found that ... .

8. After publishing his studies, Galileo was convicted of ... .
9

. Under house arrest he ... .

10. He passed away in ... .
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UNIT 24. STEVEN PAUL JOBS

“And no, we don't know where it will lead.

We just know there's something
much bigger than any of us here.”

Steven Paul Jobs
(24 February 1955 - 5 October 2011)

Word list:
1. | to adopt BCHHOBJIIOBATU
2. | to enroll 3apaxyBaTu
3. | spiritual JTyXOBHUH
4. | to become aware YCBIJOMUTH
5. | counter KOHTp-
6. | perspective OIS, OaueHHs
7. | to admire 3aXOIUTFOBATHCS
8. |tosetup CTBOPIOBATH, 3aCHOBYBAaTH
9. | milestone erar, Bixa
10, friction TEPTs, pO301KHOCTI
11, duties 00OB'SI3KH
12) to fire 3BIIBHATH
13, chief executive npe3uIeHT GipmMu
14/ rival KOHKYPEHT, CyTIepPHHUK
15, to promote CIIPUSITH
16, to focus 30CepPEaUTUCS
17, appealing pUBAOIUBHIA

Task 1. Match the words with close meaning:

1. |setup a. | argument
2. | become aware b. | competitor
3. |rival C. | president
4. | appealing d. | concentrate
5. | friction e. |realize

6. | chief executive f. | found

24
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| 7. |[focus | g. |attractive |

Task 2. Match the following definitions with one of the words from the
Word list:

1. apoint of view;

2. in contrast or opposition to;

3. to take into one’s family through legal means;

4. concerned with or affecting the soul;

5. to contribute to the progress or growth.

Task 3. Choose the right word for each sentence:

1. After finishing school she was at college of arts.

a. adopted

b. attended

.enrolled

. From the top of the hill they were the landscape below.

. fascinating

o 922 N O

. admiring

. looking

. This job became an important in his professional career.
. milestone

. action

. influence

. One of her as a secretary was to register telephone calls.

. jobs

o %9 B~ O T 22 W O

. duties

. work

o

5. He was for being rude with customers.
a. hired

b. unemployed
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c. fired

Task 4. Translate into English:

1. Byny4un myxe OCBIYEHOIO IIOAWHOIO, BIH CTaB JYXOBHUM JiJepOoM
HOBOTO PYXY.

2. [Ticns ToroO, SIK OaThKU AITEH 3arMHY/IM B aBTOKaTacTpodi, BoHU Oyiau
YCUHOBJICHI 3a0€3MEYCHOI0 CIM'ET0.

3. SIKio HIXTO HE XOue 3aJMINATUCS BIOMA, Y MEHE € KOHTP-TIPOIO3HUIIIs
MOiXaTH 3a MICTO Ha MIKHIK.

4, Uepes cimelini mpoOiem iil Baxkko Oyii0 30cepeuTrucs Ha poOoTi.

S. He3Bakatoun Ha po30DKHOCTI 3aCHOBHHKIB, BiH CTaB MPE3UICHTOM
KOMIIaHi1, sika OyJja 3aCHOBaHa OJIM3BKO JECATH POKIB TOMY.

6. Yci BiiBIyBa4il aBTOCAJIOHY 3aXOIUTIOBAJIUCS MPUBAOIMBUM JTU3aITHOM
HOBOI MOJEIII.

7. BiH ycB1IOMUB CBOIO MOMUJIKY, TIIbKH KOJIA IIporpama jaasa 301i.

Task 5. Scan the text and choose the correct answers to the questions
below:
1. Who encouraged Jobs to experiment with electronics?
a. His college teachers.
b. His adopted father.
2. What for did he travel to India?
a. In search of spiritual enlightenment.
b. In search of counter-culture.
3. Who set up Apple computers?
a. Jobs, Wozniak, Gates.
b. Jobs, Wozniak, Wayne.
4. What characterizes the latest Apple products?
a. Appealing design, innovative features, high cost.

b. Appealing design, innovative features, accessibility.
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Steven Paul Jobs

Steve Jobs (1955-2011) was an American businessman and inventor who
played a key role in the success of Apple computers and the development of
revolutionary new technology such as the iPod, iPad and MacBook.

Steven Jobs was born in San Francisco, 1955, to two university students
Joanne Schieble and Syrian born John Jandali. They were both unmarried at the
time, and Steven was given up for adoption.

Steven was adopted by Paul and Clara Jobs, whom he always considered to
be his real parents. Steven's father Paul encouraged him to experiment with
electronics in their garage. This led to a life long interest in electronics and design.

Steve Jobs attended a local school in California and later enrolled at college
in Portland.

In 1974, Jobs travelled to India in search of spiritual enlightenment. During
his several months in India he became aware of Buddhist and Eastern spiritual
philosophy. At this time he also experimented with psychedelic drugs; he later
commented that these counter-culture experiences were instrumental in giving him
a wider perspective on life and business.

Job's first real computer job came working for Atari computers. During his
time at Atari, Jobs came to know Steve Wozniak well. Jobs greatly admired this
computer technician, whom he had first met in 1971.

In 1976, Wozniak invented the first Apple | computer. Jobs, Wozniak and
Ronald Wayne then set up Apple computers. In the very beginning Apple
computers were sold from Jobs parents’ garage.

Over the next few years, Apple computers expanded rapidly as the market
for home computers began to become increasingly significant.

In 1984, Jobs designed the first Macintosh. It was the first commercially
successful home computer to use a graphical user interface. This was an important
milestone in home computing and the principle has become key in later home

computers.
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Despite the many innovative successes of Jobs at Apple, there was
increased friction between Jobs and other workers at Apple. In 1985, removed
from his managerial duties, Jobs resigned and left Apple. He later looked back on
this incident and said that getting fired from Apple was one of the best things that
happened to him — it helped him regain a sense of innovation and freedom, he
couldn't find working in big company.

In 1996 Jobs returned to Apple. He was given post of chief executive. At
the time, Apple had fallen way behind rivals such as Microsoft. Apple were
struggling to even make profits.

Jobs launched Apple on a new direction. He promoted the development of a
new wave of products which focused on accessibility, appealing design and
innovate features.

The iPod was a revolutionary product in that it built on existing portable
music devices and set the standard for portable digital music played. In 2007,
Apple successfully entered the mobile phone market, with the iPhone. This used
features of the iPod to offer a multi-functional and touch screen device to become
one of best selling electronic products.

Despite growing ill-health, Jobs continued working at Apple until August
2011, when he resigned.

In 1991, he married Laurenne Powell, together they had three children and
lived in Palo Alto, California.

Steve Jobs died in 2011 at the age of 56.

Task 6. Read the text again. Then find one wrong word in each sentence
and correct it:

1. Job’s real parents were unmarried university students at the time of his
birth, so they gave him up for adaptation.

2. Travelling over India, Jobs became aware of western spiritual philosophy.

3. Job’s counter-culture experiences gave him a wider perspective on life and

drugs.
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4. It was Wozniak who designed the first Macintosh.

5. When Jobs returned to Apple, the company was ahead of its rivals such as

Microsoft.

6. Apple successfully entered the mobile phone market with the iPod.

Task 7. Say what the following dates from the text are associated with:
1971; 1984; 1955; 1985; 1991; 2011; 1996; 2007; 1974.

Task 8. Make up Job’s biography putting the following facts from his

life in the chronological order:

(
(

e e e e

—~ N ~

)
)

N N’ N N N N

N N’ N N

Jobs resigned from Apple.

He attended a local school in California.

He started to work for Atari computers and met Steve Wozniak.
Steven Jobs was born in San Francisco.

Apple successfully entered the mobile phone market.

Apple company was set up.

Jobs was enrolled at college in Portland.

Jobs designed the first Macintosh which became a milestone in
home computing.

He travelled to India in search of spiritual enlightenment.

Jobs returned to Apple and was given post of chief executive.
Because of ill-health Jobs resigned from Apple and died.

Jobs launched the development of new Apple’s products.



UNIT 25. LOUIS PASTEUR

Word list:
1. | reference MOCHJIaHHS
2. | outstanding BHJIaTHUI
3. | breakthrough IPOpPUB
4. | puerperal fever ICIISTIONI0TOBa TapsTIKa
5. | rabies CKa3
6. | anthrax cubOipchKa BUpa3Ka
7. | tanner JTyOUITBHUK
8. | to admit npuiMaTu
9. | typhoid TG
10/ firm TBEPJIUH, PIlTydni
11, scar upam
12) to inspire HaIAXaTH
13, incurable HEBHJIIKOBHUM
14/ to spoil TICYBaTH
15, beverages HAaroi
16, contamination 3apakCHHS
17, to infect 3apakatH, iHpIKyBaTH
18, harmful LK1 JUTABAN
19, chicken cholera NTaIIMHA X0JIepa
20, mild M'SIKHH
21/ to affect BILUIMBATH, BpaKaTh
22/ cattle Xynoba
23, to prevent 3armo0iratu

30
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24, to suffer CTpaKJIaTh
25/ heart stroke CepILIeBHIA HaTal
26, crypt CKJICTI

Task 1. Match the words with opposite meaning:

1. | firm a. | unknown
2. | outstanding b. | improve
3. | admit c. | useful
4. | prevent d. | promote
5. | spoil e. | expel
6. | harmful f. mild
Task 2. Complete the table:
\erb Noun
refer
inspiration
contaminate
infection
affect
strike
Task 3. Sort out the following characteristics by diseases:
pr rperal rabies anthrax typhoid chicken
ever cholera
1 2 3 4 5

() virus infection of the central nervous system in dogs, foxes, bats and
other animals and humans;
() infectious disease of animals that mostly affects sheep, horses,

cattle, and goats and is almost always fatal in animals;

( ) formof blood poisoning caused by infection during childbirth;

() thevirus is transmitted through biting;

( ) the disease concerns chickens, turkeys, ducks, geese, canaries;

( ) symptoms are fever, uncontrollable excitement, spasms of the throat

muscles;
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() the diseases limited to individuals who handle animals (e.g. farmers,
butchers, veterinarians);

() ischaracterized by high fever, rash (ceims) and headache;

() localized infections most often occur in the respiratory tract;

( ) itoccursin crowded, unsanitary conditions and has historically been

a major killer in wartime.

Task 4. Translate into English:

1. Bunaxij 1iux JiikiB 03Ha4aB IPOPUB Y MEIUIIMHI.
2. Bin OpaB y4acTh y TpbhOX BiffHaX, 1 BCE OTO T1JI0O BKPUTE IIPAMaMHU.
3. Pak noBruii yac BBakaBCsS HEBUJIIKOBHOIO XBOPOOOIO, ajie 3apas

Oarato oro GopM 3 yCIiXoM JIKYOThCS.

4, B nmiTHIM yac goxomu BiJ MPOJaXy CHUPTHUX HAIOIB 3pOCTAIOTh Y
JIeK1JIbKa pasiB.

5. Moro Garbko CTpaxaaB BiJ MpoOjieM 3 cepieM Bxke 0arato poOKiB.
OcTranHil ceplieBUil Haraj BUABUBCS (DaTaTbHUM.

6. JyOunbHuKH 0OpOOJISAIOTh LIKIPY AJIs ii MOAAJIBIIOT0 BUKOPUCTAHHS

JUTsl BUPOOHUIITBA MIKIPSHUX Ta XyTPSHUX BUPOOIB.

Task 5. Read the text quickly and match the paragraphs (1-6) with the
topics (A-F):
A. Discovery of the immunization method.
B. Pasteur’s education.
C. Developing the method of pasteurization.
D. General information on Louis Pasteur.
E. The scientist’s last years.
F. Pasteur’s family life.
Louis Pasteur
1. Pasteurization (a process of treating milk free of damage causing

microbes) is the most common reference to the great chemist and biologist who
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ever lived on this earth, Louis Pasteur. He is a well known name in the medical
world as well as for millions of people around the world. The French chemist was
also a brilliant microbiologist known for his outstanding breakthroughs in
medicines and invention of vaccines for diseases that were never known to be
treated. Pasteur was the first man on earth to have discovered cure for dangerous
puerperal fever and created the first type of vaccine for rabies and anthrax. Pasteur
will always be remembered even by future generations for his notable disease
prevention theories and medicines.

2. Louis Pasteur was born in 1822 in a poor family of tanners in Dole,
situated in the Jura region of France. After he received his degrees in Letters and
Mathematical Sciences he got admitted to Ecole Normale Supérieure, an elite
college.

3. At University of Strasbourg where Pasteur worked as a professor of
Chemistry, he met and found his love in Marie Laurent, daughter of the university's
rector. In 1849 Pasteur married Marie with whom he had 5 children out of which
only two survived to become adults. Pasteur’s three children died of typhoid.
Losing his children was very tragic in Pasteur’s life which also made him firm in
discovering cures for diseases like typhoid. Pasteur’s personal losses left a deep
scar within him inspiring him to do something for incurable diseases and
symptoms.

4. Pasteur found that expansion of microbes spoilt liquids and beverages
like milk, wine and beer. He started doing tests and expanded his theories based on
germ theory and discovered that heating of liquids like milk kills most of the
microbes present in them. Soon this liquid germ Kkilling process was called as
pasteurization. Pasteur became worried about liquid contamination. He found that
micro-organisms infecting animals and humans can also cause diseases. Pasteur
wanted to stop the entry of harmful micro-organisms into the human body which
resulted in Joseph Lister developing antiseptic methods in surgery.

5. Pasteur worked on chicken cholera. While performing this research one

of his cultures, including the responsible bacteria, was found to have spoiled and
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failed to bring the disease in some chickens which he was trying to infect with the
disease. Pasteur tried to use these healthy chickens for later use but could not infect
them even with fresh bacteria. He found that the already weak bacteria made the
chicken immune to cholera in spite of showing mild symptoms of the disease. In
1870s Pasteur used his cholera immunization method on anthrax which was fast
affecting cattle. Soon this discovery was thought of fighting and preventing other
diseases.

6. Pasteur suffered from several heart strokes. He died in 1895. Pasteur’s
body was buried in the Cathedral of Notre Dame. His remains were made into a
crypt in the Pasteur Institute in Paris which is remembered even today for his
outstanding life saving works. The Pasteur Institute was created in his honour in

1887. Université Louis Pasteur has also been named after him.

Task 6. Read the text again to find answers to the following questions:

1. What breakthroughs in medicine did Pasteur make?

2. Where did he receive his education?

3. What tragic events left deep scars within him and inspired him for
discoveries?

4.  What is called pasteurization?

5. What is the basic principle of the immunization method?

6.  Where are Pasteur’s remains kept?

Task 7. Which of the following sentences are not correct? Correct the
ones with mistakes:

1. Louis Pasteur is a famous French chemist who is also known as a brilliant
physicist.

2. He received his degrees in Medicine and Mathematical Sciences.

3. Pasteur discovered that heating liquids kills most of the microbes present

in them.
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4. Being infected with weak bacteria made the chicken immune to cholera in
spite of showing strong symptoms of the disease.

5. The cholera immunization method was used for fighting asthma and
preventing other diseases.

6. The Institute as well as the University were created in the scientist’s

honour.

Task 8. Tell about Louis Pasteur’s life and discoveries according to the

rearranged plan from Task 5.



UNIT 26. PARACELSUS
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Word list:
1. |toraise BHUXOBYBaTH
2. | itinerant MaHJPiBHUH, KOYIBHUN
3. | to pioneer Oytu iHIIIIaTOpOM,
NEPIIONPOXIAIEM
4. | arrogant 3apO3yMUININA
5. |togarner 3apOOJISTH, HAKOITHYYBaTH
6. |toanger PO3THIYYBATH
7. |toclaim CTBEPJUKYBaTH
8. |chair kadeapa
9. |todenounce 3BHHYBa4YyBaTH, 3aCyKyBaTH
10. | quack IIapiaraH, 3Haxap
11. | to slander YOPHUTH, TIOHOCUTH, OOMOBIISITH
12. | vicious 3TICHUH
13. | punishment TIOKapaHHSI
14. | court cyn
15. | instigation 110y pIOBaHHs
16. | to prohibit 3a00pOHSITH
17. | barber nepykap, HUPyJIbHUK
18. | butcher M'SICHHK
19. | bizarre JMBHHI, €KCTpaBaraHTHHIA
20. | plague qyma
21. | to abuse oOpakaTH, JasTH
22. | remedy JIKH, 3aci0
23. | conversely HaBIAKH
24. | to consume BKUBATU
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Task 1. Match the words with close meaning:

1. | prohibit a. | strange
2. | denounce b. | wandering
3. |raise c. |evil
4. | vicious d. [initiate
5. | itinerant e. |ban
6. | bizarre f. | bring up
7. | pioneer g. | medicine
8. | remedy h. | convict
Task 2. Fill in the gaps with the suitable words from the box:
consumed court abused
chair arrogant garnered
barber’s plagues
1. In the Middle Ages took away millions of lives throughout
Europe.
2. Since her childhood she has been for being too tall.
3. Every year more and more oil is all over the world.
4. The of juries sentenced the criminal to life imprisonment.
5. His father works as a teacher at the of Strength of Materials.
6. For many years of hard work he has the reputation of an honest

and responsible specialist.
7. The workers do not like their boss for his being toward them.

8. He is going to the to have his hair cut.

Task 3. Match the words with their definitions:

1. | anger a. |a penalty or sanction for
wrongdoing

2. | claim b. | provocating, causing people to
some action

3. | quack C. | to communicate a false statement
about someone

4. | punishment d. | a strong feeling of displeasure
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5. | butcher e. | to state to be true, especially when
open to question
6. | conversely f. | an untrained person who pretends

to be a physician and gives
medical advice and treatment

7. | slander g. | In an opposite way; on the other
hand
8. | instigation h. | one who sells meat

Task 4. Translate into English:

1. [{101KOBCHKOTO BBaXKalOTh MEPHIONPOXIAIEM B 00JaCTI KOCMIYHHMX
JIOCJIIKEHD.

2. Bin BuxoByBaBcs B 3a0e3MeueHiii ciM'T 1 OTpUMaB MPEKPacHy OCBITY.

3. [linOyproBaHHS A0 BINCHKOBUX Jill JEAKUX OIMO3UIIMHUX CHII

BHUKJIMKAJIO THIB y OUTBIIOI YACTUHU HACEJIECHHS.

4, Homy noBenocs MoJaT! y BifICTAaBKY, Tak SK BiH OyB OOBHHYBadeHMi
3a 3B'A3KH 13 3JJIOY4MHHUMU YTPYIIOBAHHIMH.

5. [Tomopoxi - kparuii 3aci® BiJ BTOMHU 1 HYJIbI'H.

6. Poman ®enopa JlocTtoeBchkoro «35104MH 1 Kapa» 3aBXAM BUKIMKAB
0araro Cynepeyox 1 JIUCKYCii.

7. [i 3m06Ha peaxitist BUIAETHCS AUBHOIO Y IIiH CUTYAIT].

Task 5. Scan the text. Put the main ideas (A — E) in the same order as
they are in the text:

A. Paracelsus held the chair of medicine at the University of Basel.

B. Paracelsus studied medicine at the University of Basel.

C. Paracelsus’s death in Salzburg.

D. He practiced as an itinerant physician.

E. He established his own practice in Strasbourg.
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Paracelsus

Paracelsus (1493-1541) was a Swiss German Renaissance physician,
botanist, alchemist, astrologer, and general occultist. He founded the discipline of
toxicology.

Paracelsus was born and raised in the village of Einsiedeln in Switzerland.
His father was a chemist and physician. At the age of 16 he started studying
medicine at the University of Basel, later moving to Vienna.

His wanderings as an itinerant physician took him through Germany, France,
Spain, Hungary, the Netherlands, Denmark, Sweden, Poland and Russia.

Astrology was a very important part of Paracelsus' medicine, and he was a
practicing astrologer — as were many of the university-trained physicians working
at this time in Europe. Paracelsus pioneered the use of chemicals and minerals in
medicine.

Paracelsus gained a reputation for being arrogant, and soon garnered the
anger of other physicians in Europe. Some even claim he was a habitual drinker.
He held the chair of medicine at the University of Basel and was a city physician
for less than a year. He angered his colleagues by lecturing in German instead of
Latin in order to make medical knowledge more accessible to the common people.
He attacked conventional academic teachings and publicly burned medical
textbooks, denouncing some of his predecessors as quacks and liars. After
slandering his opponents with vicious epithets, he had to leave Basel secretly
fearing punishment by the court. He became a tramp, wandering through Central
Europe. In 1530, at the instigation of the medical faculty at the University of
Leipzig, the city council of Nirnberg prohibited the printing of Paracelsus' works.

In 1526 he bought the rights of citizenship in Strasbourg to establish his own
practice. Paracelsus was one of the first medical professors to recognize that
physicians required a solid academic knowledge in the natural sciences, especially
chemistry. Furthermore, he allowed for the access of medical academic work to
learned people. Surgeons for example often were not academically trained and

ranked with the barbers and butchers in the same guild.
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Paracelsus is also a folk legend, and bizarre tales about his life circulated
Central Europe for centuries. In the minds of many, he became a wonder-healer
and spiritual protector of health. His aid to villages during the plague in the 16th
century was for many an act of heroism, his works and achievements therefore
often abused and falsely copied.

He died at the age of 47 in Salzburg, and his remains were buried according
to his wishes in the cemetery at the church of St. Sebastian in Salzburg.

Paracelsus’s views were that sickness and health in the body relied on the
harmony of man (microcosm) and Nature (macrocosm). He took an approach that
humans must have certain balances of minerals in their bodies, and that certain
ilinesses of the body had chemical remedies that could cure them. Paracelsus,
sometimes called the father of toxicology, wrote: The dose makes the poison. That
IS to say, substances considered toxic are harmless in small doses, and conversely

an ordinarily harmless substance can be deadly if over-consumed.

Task 6. You are to choose the one best answer (A), (B), (C) or (D) to each
guestion:

1. Which of the following is not true about Paracelsus?

A. He was Swiss.

B. He lived in the Middle Ages.

C. He founded surgery.

D. He was arrogant.

2. In what profession didn’t he try himself?

A. Botanist.

B. Oculist.

C. Astrologer.

D. Alchemist.

3. In what city didn’t he live?

A. Vienna.

B. Salzburg.
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C. Lisbon.

D. Basel.

4. What was not the reason of his leaving Basel secretly?

A. He lectured in German instead of Latin.

B. He publicly burned medical textbooks.

C. He feared punishment by the court for slandering his opponents.
D. He pioneered the use of chemicals and minerals in medicine.

5. Which of the following views did not he share?

A. Physicians require a solid academic knowledge.

B. Surgeons can be ranked with the barbers and butchers in the same guild.
C. Sickness and health relied on the harmony of man and Nature.

D. Humans must have certain balances of minerals in their bodies.

Task 7. Restore the questions to the following short answers:
. Chemist and physician.
. At the age of 16.

. The use of chemicals and minerals in medicine.

1
2
3
4. To make medical knowledge more accessible to the common people.
5. In 1526.
6. At the church of St. Sebastian in Salzburg.

Task 8. Give a short description of Paracelsus’s life, activities and views
according to the plan:

1. Paracelsus’s origin and education.

2. The places which he visited and lived in.

3. The reasons of his angering his colleagues and authorities.
4. His views concerning professions in medicine.
5

. His views concerning the human’s health.



UNIT 27. ALFRED NOBEL

Word list:
1. | bankrupt OaHKpPYT
2. | to dare CMITH, JIep3aTH
3. | fortune CTaH
4. | explosive BHOYXOBa pEYOBHHA
5. | to injure paHWUTH, HAHOCUTH TPABMY
6. | landmine dyrac, miHa
7. | order 3aMOBJICHHS
8. | skilful JTOCBITYEHUH, yMIIHiA
9. | to master OBOJIOJIIBATH
10, forward-looking JTAJICKOTJISTHU T
11, opportunity CIPHSTINBA MOXKJIUBICTh
12, to justify BUTIPABJIOBYBATH
13, to express BUpAXaTU
14, threat 3arposa
15, according to 3TiIHO, BiJIOBITHO
16, will BOJISA, 3aIIOBIT
17, interests BIJICOTKH
18, annually HIOPIYHO
19, prize peMist
20, brotherhood JPYKHI CTOCYHKH
21/ abolition JIKBIAAIlis, CKACYyBaHHS
22, reduction CKOPOYEHHS
23| worthy CTOSTIHIM
24 public figure TPOMAJICEKHM JT1sTd
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Task 1. Make up possible word-combinations:

43

1. | dangerous a.| feelings
2. | skilful b.| interests
3. | master c.| worker
4., | forward d.| one’s will
5. | express e.| explosive
6. | nuclear f. | a foreign language
7. | according to g.| winner
8. | annual h.| figure
9. | prize I. | threat
10/ public J. | looking
Task 2. Match the words with their definitions:
1. | fortune a. | the state when all people regard
one another as equals
2. | brotherhood b. |a person who loses money or
property
3. | worthy c. | an explosive mine laid usually just
below the surface of the ground
4. | bankrupt d. | a favorable occasion or time
5. | dare e. | alarge sum of money, wealth
6. | opportunity f. |[to have the courage to do
something
7. | landmine g. | having value, useful
Task 3. Fill in the table:
\erb Noun
injury
order
justification
reduce
abolish
expression
Task 4. Translate into English:
1. oro cTan OIIHIOIOTH B KiJIbKa MiJIbHOHIB.

2. SIK BIH MOCMIB CKa3aTu i ue?
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3. [Tig yac 1OpOkHBOI aBapii OyJI0 MOPAHEHO K1JIbKA JIFOACH.
4.  3aBoj OTpUMaB BEJHMKE 3aMOBIICHHS Ha BHUTOTOBJICHHS OCTaHHBOI

MOJIEI1 aBTOMOO1IIS.

S. Mu NOBHHHI BUKOPUCTATH LI0 MOXKIIUBICTB JJISL TOJIIIICHHS HAIIOTO
CTaHOBHUIIA.

6. S ioro He BUNPABIOBYIO, S IPOCTO BHUCIIOBIIOKO CBOIO TYMKY.

1. BiamoBimHO 10 OTO 3amOBITY, BECh HOTO CIA0K MepeaaeThes GOHIY

1o 60poTHO1 13 3a0PYITHEHHSIM HABKOJIUIIIHBOTO CEPEIOBHUIIIA.
8. Bin € BUIaTHUM TpOMaJChKUM JdisiyeM, sIKUM Oarato pokiB OOpeThes

3a CKOPOYEHHS 1 HaBITh JIIKBIIAIIIO SJEPHOI 30pOi B YCbOMY CBITI.

Task 5. Scan the text and choose the correct answers to questions 1 —4
below:
1. Where did Nobel get his education?
a. He went to school.
b. He studied privately.
2. What concerned him most?
a. Making money and scientific discoveries.
b. Searching for a meaning of life.
3. What was his greatest wish?
a. To find ordinary human love.
b. To see peace between nations.
4. What is the criterion in choosing the prize winner, according to
Nobel’s will?
a. The candidate’s contribution into science.

b. The candidate’s nationality.

Alfred Nobel
Alfred Nobel, the great Swedish inventor and industrialist, was a man of

many contrasts. He was the son of a bankrupt, but became a millionaire, a scientist
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who dared for literature, an industrialist who managed to remain an idealist. He
made a fortune but lived a simple life, and although cheerful in company he was
often sad when remained alone. A lover of mankind, he never had a wife or family
to love him; a patriotic son of his native land, he died alone in a foreign country.
He invented a new explosive, dynamite, to improve the peacetime industries of
mining and road building, but saw it used as a weapon of war to kill and injure
people. During his useful life he often felt he was useless. World-famous for his
works, he was never personally well-known, for while he lived he avoided
publicity.

He was born in Stockholm in 1833 but moved to Russia with his parents in
1842, where his father, Emmanuel, made a strong position for himself in the
engineering industry. Emmanuel Nobel invented the landmine and got plenty of
money for it from government orders during the Crimean War, but then, quite
suddenly went bankrupt. Most of the family went back to Sweden in 1859. Four
years later Alfred returned there too, beginning his own study of explosives in his
father's laboratory. It so occurred that he had never been to school or University but
had studied privately and by the time he was twenty was a skilful chemist and
excellent linguist having mastered Swedish, Russian, German, French and English.
Like his father, Alfred Nobel was imaginative and inventive, but he had better luck
in business and showed more financial sense. He was quick to see industrial
openings for his scientific inventions and built up over 80 companies in 20
different countries. Indeed his greatness lay in his outstanding ability to combine
the qualities of an original scientist with those of a forward-looking industrialist.

But Nobel was never really concerned about making money or even making
scientific discoveries. Seldom happy, he was always searching for a meaning to
life, and from his youth had taken a serious interest in literature and philosophy.
Probably because he could not find ordinary human love — he never married — he
began to care deeply about the whole mankind. He took every opportunity to help
the poor: he used to say that he would rather take care of the stomachs of the living

than the glory of the dead in the form of stone memorials. His greatest wish,
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however, was to see an end to wars, and thus peace between nations; and he spent
much time and money working for the cause until his death in Italy in 1896. His
famous will, in which he left money to provide prizes for outstanding work in
physics, chemistry, physiology, medicine, economics, literature and promotion of
world peace is a memorial to his interests and ideals. And so the man who often
believed that he was useless and had done little to justify his life is remembered
and respected long after his death. Nobel's ideals which he expressed long before
the threat of nuclear war have become the ideals of all progressive people of the
world.

According to Nobel's will the capital was to be safely invested to form a
fund. The interests on this fund is to be distributed annually in the form of prizes to
those who, during the previous year did work of the greatest use to mankind within
the field of physics, chemistry, physiology or medicine, economics, literature and
to the person who has done the most for brotherhood between nations, for the
abolition or reduction of permanent armies and for the organization and
encouragement of peace conferences.

In his will Nobel wrote that it was his firm wish that in choosing the prize
winner no consideration should be given to the nationality of the candidates, but
that the most worthy should receive the prize, whether he be a Scandinavian or not.
This will was written in Paris, on November 27, 1895.

Since Nobel's death many outstanding scientists, writers and public figures

from different countries have become Nobel prize winners.

Task 6. Read the text again and choose the one best answer (A), (B), (C)
or (D) to each question:

1. What is not true about Nobel’s life?

A. He lived a simple life.

B. He avoided publicity.

C. He was personally well known.

D. He was happy in his family life.



47

2. Which language did not Nobel master?

A. English.

B. Norwegian.

C. Russian.

D. Swedish.

3. Which of the following was not very important for the inventor’s success?
A. He had financial sense.

B. He was a forward-looking industrialist.

C. He took serious interest in literature and philosophy.
D. He was an original scientist.

4. In which field is not Nobel prize provided?

A. In physiology.

B. In physics.

C. In psychology.

D. In literature.

Task 7. Find one meaningful mistake in each sentence and correct it:

1. Although cheerful in company Nobel was seldom sad when he remained
alone.

2. He invented a new explosive, dynamite, to improve the wartime
industries.

3. Nobel’s father got plenty of money from government orders for landmines
during the Civil War.

4. Like his father, Nobel was imaginative and inventive, but he was unlucky
in business.

5. He missed every opportunity to help the poor.

6. The interests from Nobel’s bank deposits are distributed annually in the
form of prizes.

7. In his will Nobel wrote that he preferred that in choosing the prize winner

no consideration should be given to the nationality of the candidates.
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Task 8. Tell about Alfred Nobel’s life and activities according to the
plan:
Nobel’s family.
His education.
His business.
Alfred Nobel’s views.

His will.

ok w DB



UNIT 28. ALBERT EINSTEIN

Word list:
1. | theory of relativity Teopis KMOBIPHOCTI
2. | secular CBITCHKUH, HEPENTIHHUN
3. | jewish €BPEUCHKHIA
4. | to excel BUJIUIATHUCS, OyTH Kpalle 3a BCiX
5. | to renounce BIIMOBJISITUCS
6. | citizenship TPOMAaJITHCTBO
7. | to recall 3rajyBaTH
8. | loyal BIpHUIA, BiIIaHH
9. | to cut classes MPOITYCKATH 3aHATTSI
10/ animosity BOPOXKICTh
11, vehemently CHUJIBHO, HECAMOBHUTO
12, to oppose BUCTYIIATH ITPOTH, IPOTHBHTHUCS
13/ to defy HE ITiIKOPSATHUCS, ITHOPYBATH
14, desperate JOBEICHUH 0 BiA4aro
15, unemployed 0e3po0iTHHI
16, to tutor 3aliMaTUCs PENETUTOPCTBOM
17, blessing 0J1IaroCIIOBEHHS
18, to evaluate OLIIHIOBATH
19, application 3asiBKa
20, to ponder PO3yMYBaTH
21, to violate MOPYITyBaTH
22 velocity [IBUJKICTH
23/ insight OCSIIHHS, 310TaIKa
24, miracle JIMBO
25/ to submit [I0JjaBaTH, Ha1aBaTH
26, to deduce BUBOANTH ((hOpMyITy)
27| argument cynepeyka
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28, meager yooruii

29, affair JH000BHHIA 3B'SI30K

30/ settlement JIOMOBJIEHICTH

31, controversial CHIpHUI

32, award Haropoja

33, to bar 3a00POHSITH

34, assassination BOMBCTBO (3 iJICHHUX MOTHBIB)
35, caption MIMHAC (10 300paskeHHS )
36/ to withdraw BIAXOINTH, BIIIAIISATUCS
37, associate TOBApHIII, KoJiera

38, internal bleeding BHYTPIITHS KPOBOTEYA
39, content 3aJI0BOJICHHI

40, to prolong MIO/IOBXKYBAaTH

41, share BHECOK, YaCcTKa

42| ashes npax

43, to scatter pO3BIIOBATH

Task 1. Match the words with close meaning:

1. | velocity a. | colleague
2. | associate b. |jobless

3. | miracle c. |refuse

4. | loyal d. |prize

5. | bar e. | satisfied
6. | renounce f. remember
7. | content g. |speed

8. |award h. | wonder

9. |recall I. prohibit
10. | unemployed J. devoted

Task 2. Complete the table:
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Verb Noun
excellence
apply _
opposition
tutor
violation
argue
deduction
settle

assassinate
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Task 3. Match the words with their definitions:

1. | defy a. |sudden understanding of a
complex problem

2. | animosity b. | characterized by strong intensity
of emotions

3. | secular c. | having lost all hope

4. | vehemently d. | resist openly and boldly

5. | insight e. | think of, consider with care

6. | meager f. | not controlled by the church

7. | ponder g. | little in quantity

8. | desperate h. | a powerful and active dislike or
hatred

Task 4. Fill in the gaps with the suitable words from the box:

evaluated relativity submitted
controversial Internal Jewish
blessing Affair
1 The theory of contributed a lot into the space exploration.
2 His mother is a Jew, so he was given to a school.
3. The damage from tornado was in dozen million dollars.
4 He worked on this project for several months and at last it

for the committee’s consideration.

5.  This problem cannot be solved so quickly.

6. Though her parents didn’t give their for their marriage, they
defied their will and lived happily for many years.

7. Though they did their best to conceal their it was made
public very soon.

8.  The reason of his death was strong stomach bleeding.

Task 5. Translate into English:
1. Bin orpumaB (paHily3pke TPOMAJISHCTBO TIIbKU MIiCIs 0ararboX pPOKIB
HABYaHHS 1 HAMOJETIIUBOI pOOOTH B KpaiHi.

2. Yepes xBopoOy i 10BEIOCS MPOITYCTUTH OaraTo 3aHsTh.
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3. Iigmuc mix dpotorpadiero B ra3eTi 3SMyCHUB HOTO TOCMIXHYTHCS.

4. Komu #0oT0 CMHM BUPOCIIH, BiH BITIMIIIOB BiJI CIIpaB 1 MOiXaB y Celo.

5. Tak sk chopaBu WU goOpe, MapTHEPH BHUPIIIMIA TOAOBKHUTH dil0

KOHTPAKTYy.

6. 3rigHo 3 floro 3amoBiTOM, Horo npax OyB pO3BiSTHUN HaJ MOPEM.

7. TlpubyTtok OyB pO3AUIEHHUN BIAMOBIAHO 10 BHECKY y Oi3HEC KOXKHOTO

y4aCHUKA.

Task 6. Scan the text and choose the correct answers to questions 1 — 5

below:

1. Why did young Einstein have to renounce his German citizenship?

. He wanted to continue his education in Switzerland.

. He did not want to serve in the army.

2. Why did Einstein’s parents vehemently oppose his marriage with a

Serbian girl?

. Because of her religion beliefs.

. Because of her appearance and character.

3. What was the scientist doing when he deduced his famous

equation?

. He was tutoring children.

. He was evaluating patent applications at the patent office.

4. What for did Einstein receive the Nobel Prize?

. For his explanation of the photoelectric effect.
. For his theory of relativity.

5. Why did Einstein decide to leave Germany forever?

. Because he was offered a good position at the Institute in the USA.

. Because he was afraid of Nazi’s persecution.
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Albert Einstein

Albert Einstein (1879-1955) was a German-born physicist who developed
the theory of relativity. He is considered the most influential physicist of the 20th
century.

Born in Germany, Albert Einstein grew up in a secular, middle-class Jewish
family. His father was a salesman and engineer who, with his brother, founded a
company that manufactured electrical equipment in Munich, Germany. Einstein
attended elementary school in Munich, where he excelled in his studies. He
enjoyed classical music and played the violin.

As a young man Einstein had to renounce his German citizenship to avoid
military service and enrolled at the Zurich school. Einstein would recall that his
years in Zurich were some of the happiest of his life. He met many students who
would become loyal friends. He also met his future wife, Mileva Maric, a physics
student from Serbia.

After graduating, Albert Einstein faced a series of life crises over the next
few years. Because he liked to study on his own, he cut classes and earned the
animosity of some of his professors. Meanwhile, Einstein's relationship with Maric
deepened, but his parents vehemently opposed the relationship because of her
Serbian background and Eastern Orthodox Christian religion. Einstein defied his
parents and continued to see Maric.

At this point, Albert Einstein probably reached the lowest point in his life.
He could not marry Maric and support a family without a job, and his father's
business had gone bankrupt. Desperate and unemployed, Einstein took lowly jobs
tutoring children. A turning point came later in 1902, when the father of his
lifelong friend, Marcel Grossman, recommended him for a position as a clerk in
the Swiss patent office in Bern, Switzerland. About this time, Einstein’s father
became seriously ill and just before he died, gave his blessing for him to marry.
With a small but steady income, Einstein married Maric in 1903. In 1904 they had
their first son, Hans Albert. Their second son, Eduard, was born in 1910.
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At the patent office, Albert Einstein evaluated patent applications for
electromagnetic devices. He quickly mastered the job, leaving him time to ponder
on the transmission of electrical signals and electrical-mechanical synchronization,
an interest he had been cultivating for several years. While at the polytechnic
school he had studied Scottish physicist James Maxwell's electromagnetic theories
which describe the nature of light, and discovered a fact unknown to Maxwell
himself, that the speed of light remained constant. However, this violated Isaac
Newton's laws of motion because there is no absolute velocity in Newton's theory.
This insight led Einstein to formulate the principle of relativity.

In 1905 — often called Einstein's "miracle year" — he submitted a paper for
his doctorate. In his paper on matter and energy, Einstein deduced the well-known
equation E=mc2, suggesting that tiny particles of matter could be converted into
huge amounts of energy, foreshadowing the development of nuclear power.

Einstein was invited to lecture at international meetings and he rose rapidly
in the academic world. He was offered a series of positions at increasingly
prestigious institutions, including the University of Zirich, the University of
Prague, the Swiss Federal Institute of Technology, and finally the University of
Berlin, where he served as director of the Kaiser Wilhelm Institute for Physics
from 1913 to 1933.

As his fame spread, Einstein's marriage fell apart. His constant travel and
intense study of his work, the arguments about their children and the family’s
meager finances led Einstein to the conclusion that his marriage was over. Einstein
began an affair with a cousin, Elsa Lowenthal, whom he later married. He finally
divorced Mileva in 1919 and as a settlement agreed to give her the money he might
receive if he ever won a Nobel Prize.

Albert Einstein received the Nobel Prize for Physics in 1921. Because
relativity was still considered controversial, Einstein received the award for his
explanation of the photoelectric effect.

While Einstein was touring much of the world speaking on his theories in
the 1920s, the Nazis were rising to power under the leadership of Adolph Hitler. At
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this time, Einstein learned that the new German government passed a law barring
Jews from holding any official position, including teaching at universities. Einstein
also learned that his name was on a list of assassination targets, and a Nazi
organization published a magazine with Einstein's picture and the caption "Not Yet
Hanged" on the cover.

In December, 1932, Einstein decided to leave Germany forever. He took a
position at the newly formed Institute for Advanced Study at Princeton, New
Jersey, which soon became a Mecca for physicists from around the world.

In the last decade of his life, Einstein withdrew from public life, rarely
traveling far and taking long walks around Princeton with close associates, whom
he engaged in deep conversations about politics and religion.

On April 17, 1955, Einstein suffered an abdominal aortic aneurysm and
experienced internal bleeding. He was taken to the University Medical Center at
Princeton for treatment, but refused surgery, believing that he had lived his life and
was content to accept his fate. "I want to go when | want," he stated at the time. "It
is tasteless to prolong life artificially. I have done my share, it is time to go. | will
do it elegantly." Einstein died at the university medical center early the next
morning at the age of 76. His remains were cremated and his ashes were scattered

in an unknown location.

Task 7. Read the text again and decide if the statements below are true
(T) or false (F):

1. | The company of Einstein’s father manufactured chemical equipment. | T/F

Einstein was an excellent student. T/F

Einstein recalled the years in Munich as the happiest in his life. T/IF

2
3
4. | Professors didn’t like Einstein for his not attending classes regularly. | T/F
5 His life was crucially changed when he received a position of a clerk | T/F

in the patent office.

6. | His theory of relativity was based on Newton's laws of motion. T/F




56

He headed one of the Institutes in Berlin for twenty years. T/IF

8. | Till the end of his life Einstein was actively involved in public life. T/IF

order.

Task 8. Rearrange the facts from Einstein’s life in the chronological

e N N e e e N e T

N/ N N N N N N N N N N

Einstein rose rapidly in the academic world.

He took lowly jobs tutoring children.

Einstein deduced his well-known equation and submitted a paper for
his doctorate.

He died at the age of 76.

He received a position of a clerk in the patent office in Bern.
Einstein received the Nobel Prize for Physics.

His father blessed his marriage.

He attended elementary school in Munich.

He served as a director at the Institute of Physics in Berlin.
Einstein was enrolled at the Zurich school.

He withdrew from public life.

Einstein was born in a secular, Jewish family.

His marriage fell apart.

His remains were cremated and his ashes were scattered in an
unknown location.

He met his future wife, Mileva Maric.

Einstein left Germany forever.

His father’s business went bankrupt.




UNIT 29. MARIE CURIE

Word list:
1. | science MPUPOIHUYI PEMETH
2. | to determine BUPINTYBATH (Cs1)
3. | Master’s degree CTYITiHb MaricTpa
4. | scarcely JIC/IBE
5. | to furnish oOcTaBsITH (MEOJISIMK)
6. | course KypcC
7. | Bachelor OakayiaBp
8. | honour 4ecTh
9. | salary TUTATHS, OKJIa]
10, reward BUHAropoja
11, partnership MapTHEPCTBO
12/ rare PIIKICHHIA
13/ to emit BUITPOMIHIOBATH
14 to wrap 3aropTaTtu
15] to puzzle CIIAHTEJINIYBATH
16, thesis JUCepTallis
17 store-room KoMopa
18, proper HaJIC)KHUH, BIITOBIIHUI
19, to find out 3'ICOBYBATH, 3HAXOIUTH
20/ to declare 3asIBIISITH
21, to point out BKa3yBaTH
22| traffic accident aBTOKaTacTpoda
23, generation TOKOJIIHHS

S7
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Task 1. Match the words with opposite meaning:

1. |rare a. |hide

2. | honour b. | punishment
3. | proper C. | guess

4, | reward d. | animosity
5. | find out e. | shame

6. | partnership f. | unsuitable
7. | puzzle g. |frequent

Task 2. Make up the possible word-combinations:

1. | point a.| rays

2. | Master’s b.| accident
3. | monthly c.| thesis

4. | store d.| room

5. | emit e.| degree
6. | wrap f. | salary
7. | traffic g.| a present
8. | doctor’s h.| out

Task 3. Fill in the gaps with the suitable words from the box:

Bachelor’s course scarcely
furnished declared science
determine generation
1. The captain had to change the of the ship because of
oncoming storm.
2. Last year he received the degree in
3. She was so tired that she could walk.

4.  The room she was going to rent was poorly

5.  The management that the company had gone bankrupt and
most workers would be dismissed.

6.  After finishing school it was difficult for him to what
profession to choose.

7. Very often young IS more competent in computer

technologies than their teachers.
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Task 4. Translate into English:

1. Buknangad OyB ciaHTeIWYEHUN BIAMIOBIIIIO CTYICHTA.

2. «He mornn 6 Bu 3aropnyTy mojapyHOK B KpacHBHM Mamip?» - MOMPOCHB
MOKYTelb MPOAABIIS.

3. Bin 00i11s1€ 3aXUCTUTH JUCEPTALliI0 HACTYITHOTO POKY.

4. Tlomimiss HamaraeThcsl 3'sICyBaTH MPHUYMHY aBTOKaracTpodu, xouya Bce
BKa3ye€ Ha Te, 1110 BOHA CTanacs 4epe3 J0II0BY OTOY.

5. KpiMm miomicsuHOi TmUIaTHi, BOHA 1HOMI OTPUMYE HEBEIUKY TPOIIOBY
BUHATOPOJy 32 XOPOIITy poOOTY.

6. Bonu omyOnikyBajgu KiJbKa YCIIIIHUX KHUT 3aBISKH 0OararopiyHOMY
apTHEPCTBY.

/. Bin mpamioe Ha TpboX poOOTax, ajie Tpolleil JieABe BUCTAyae, 100
YTPUMYBATH CIM'IO 1 OIJIa4yBaTH PaxyHKH.

8. OTpumaBIIHM CTYIiHb 0akajaBpa, BiH BUPIIIUB MPOIOBKUATH HABUAHHS IS

OTPUMAaHHS CTYTICHS MaricTpa.

Task 5. Scan the text. Put the main ideas (A — E) in the same order as
they are in the text:
A. Discovery of radium.
B. The scientist’s private life.
C. Receiving Nobel Prizes.
D. Marie Curie received her education.

E. Experimenting with chemical substances.

Marie Curie
Marie Curie was born in Warsaw on 7 November, 1867. Her father was a
teacher of science and mathematics in a school in the town, and from him little

Maria Sklodowska — which was her Polish name — learned her first lessons in
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science. Maria's wish was to study at the Sorbonne in Paris, and after many years
of waiting she finally left her native land in 1891.

In Paris Maria began a course of hard study and simple living. She
determined to work for two Master's degrees — one in Physics, the other in
Mathematics. Thus she had to work twice as hard as the ordinary student. Yet she
had scarcely enough money to live on. She lived in the poorest quarter of Paris.
Night after night, after her hard day's work at the University, she got to her poorly
furnished room and worked at her books steadily for hours. Though she was often
weak and ill, she worked in this way for four years. She had chosen her course and
nothing could turn her from it.

Among the many scientists Maria met and worked with in Paris was Pierre
Curie. Pierre Curie, born in 1859 in Paris, was the son of a doctor, and from early
childhood he had been fascinated by science.

At sixteen he was a Bachelor of Science, and he took his Master's degree in
Physics when he was eighteen. When he met Maria Sklodowska he was thirty-five
years old and was famous throughout Europe for his discoveries in magnetism. But
in spite of the honour he had brought to France by his discoveries, the French
Government could only give him a very little salary as a reward, and the University
of Paris refused him a laboratory of his own for his research.

Pierre Curie and Maria Sklodowska, both of whom loved science more than
anything else, very soon became the closest friends. They worked together
constantly and discussed many problems of their research. After little more than a
year they fell in love with each other, and in 1895 Maria Sklodowska became
Mme. Curie. Theirs was not only a very happy marriage but also one of the
greatest scientific partnerships.

Marie was the greatest woman-scientist of her day but she was a mother too,
a very loving one. There were their two little girls, Irene and Eve.

For some time Pierre Curie had been interested in the work of a French
scientist named Becquerel. There is a rare metal called uranium which, as

Becquerel discovered, emits rays very much like X-rays. These rays made marks
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on a photographic plate when it was wrapped in black paper. The Curies got
interested in these rays of uranium. What caused them? How strong were they?
There were many such questions that puzzled Marie Curie and her husband. Here,
they decided, was the very subject for Marie's Doctor's thesis.

The research was carried out under great difficulty. Mme. Curie had to use
an old store-room at the University as her laboratory — she was refused a better
room. It was cold, there was no proper apparatus and very little space for research
work. Soon she discovered that the rays of uranium were like no other known rays.

Marie Curie wanted to find out if other chemical substances might emit
similar rays. So she began to examine every known chemical substance. Once after
repeating her experiments time after time she found that a mineral called
pitchblende emitted much more powerful rays than any she had already found.

Now, an element is a chemical substance which so far as is known cannot be
split up into other substances. As Mme. Curie had examined every known chemical
element and none of them had emitted such powerful rays as pitchblende she
could only decide that this mineral must contain some new element.

Scientists had declared that every element was already known to them. But
all Mme. Curie's experiments pointed out that it was not so. Pitchblende must
contain some new and unknown element. There was no other explanation for the
powerful rays which it emitted.

Scientists call the property of giving out such rays "radioactivity", and Mme.
Curie decided to call the new element "radium", because it was more strongly
radioactive than any known metal.

In 1903 Marie and Pierre together with Henry Becquerel were awarded the
Nobel Prize in Physics. In 1911 Marie received the Nobel Prize in Chemistry. But
the second prize went to her alone for in 1906 Pierre had died tragically in a traffic
accident. Mme. Sklodowska-Curie, the leading woman-scientist, the greatest
woman of her generation, has become the first person to receive a Nobel Prize

twice.
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Task 6. Read the text again. Choose the correct words to complete the

sentences:

1. Marie Curie was by nationality.
2. In Paris she determined to work for two

3. When Pierre Curie met Maria Sklodowska, he was famous throughout

Europe for

4. They were not only a happy family, but also great scientific
5. The subject of Marie’s Doctor’s thesis was connected with

6. Marie Curie called the discovered element “radium” because

7. Marie Curie received the second Nobel Prize alone as her husband

Task 7. Restore the questions to the following short answers:

© O N o gk~ w N E

A teacher of Science.

To study at the Sorbonne in Paris.

One in Physics, the other in Mathematics.

In the poorest quarter of Paris.

He was thirty-five years old.

Yes, they did. Two little girls, Irene and Eve.
In an old store-room.

The property of giving out powerful rays.

In 1903.

Task 8. Tell about Marie Curie’s life and activities according to the plan:

1.

. Her studies at the Sorbonne.

Marie Curie’s early life.

2
3. Her future husband, Pierre Curie.
4,
5

Their love story and family life.

. Experimenting with chemical substances which emit rays.



6. Discovery of radium.

7. Being awarded with the Noble Prizes.
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UNIT 30. HENRY FORD

Word list:
1. | famed 3HAMCHUTHI
2. | to gift 10JJapyBaTh
3. | promptly TIIBUJIKO
4. | to take apart po3zibparu
5. | apprenticeship YUHIBCTBO
6. | bookkeeping Oyxranrepis
7. | briefly MIPOTSATOM KOPOTKOTO TIEPioTy
8. | to hire HalMaTu
9. | carriage Bi30K
10, executive yIpaBJIiHEIb
11, genius TCHIN
12, gains npuOyTOK
13, renowned BIJIOMHH, 3HAMEHUTHI
14, vision MPOHUKIUBICTH, IepeadaueHHs
15, wages 3apruiara
16, assembly line CKJIaIAJTbHUN KOHBEED
17/ simultaneously OTHOYACHO
18, contradictory CynepeuIMBHIA
19, viewpoint TOYKA 30PY
20, ardent NAJIKHiA, PEeBHUHT
21, ongoing MOCTIMHMMA, Oe3nIepepBHUI
22| committed MePEKOHAHNM, 1IeHHUN
Task 1. Match the words with close meaning:
1. | gains | a. | rapidly
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2. | ongoing b. | controversial

3. | famed C. | present

4, | qgift d. | atthe same time
5. | contradictory e. | profit

6. | promptly f. renowned

7. | hire g. |continuous

8. | simultaneously h. | employ

Task 2. Make up possible words or word-combinations from the

following parts:

1. | chief a. | supporter
2. | committed b. | keeping
3. | take C. | point

4. | assembly d. | apart

5. | apprentice e. | line

6. | view f. | opponent
7. | book g. | ship

8. | ardent h. | executive

Task 3. Choose the word that best completes each sentence:

1. He worked for an electronics company but had to resign because
of arguments with the management.

a. largely

b. solely

c. briefly

2. Before invention of automobile things were transported from place to
place by mostly horse

a. sledges

b. carriages

c. trains

3. He became one of the richest men in the country due to his financial

a. achievements

b. gains
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C. genius

4. The trade unions organized the workers’ strike against cutting.

a. wages

b. profit

C. earnings

5. We could avoid bankruptcy and survive the economic crisis due to the
of our bank president.

a. forward-looking

b. viewpoint

C. vision

Task 4. Translate into English:

1. JlutuHa mBHAKO pos3iOpana irpamiky, sika Oyia mojapoBaHa il Ha JIeHb
HapOHKCHHSI.

2. UnmeHn mTpaBIiHHS KOMIMAaHII MaJW CyMepewInBlI TOYKH 30py IOAO
T1JIBUIIICHHS 3apIUIaTH POOITHUKAM.

3. 3aBOgKH BIPOBAKEHHIO CKJIQJAIbHOTO KOHBEEPA CTAJIO MOXKIMBHM
OJTHOYACHO BUTOTOBJISITH JIECATKH aBTOMOOLIIB.

4. 3a pokM Yy4YHIBCTBA BIH OCBOiB HE TUIbKM poOouy mnpodecito, a i
OyXrairepiro.

5. Bynyum renieMm B 30pOHMHUX TEXHOJIOTISIX, BIH 3aBXKIU OyB NMEPEKOHAHUM
MPOTUBHUKOM BIWHHU.

6. SIx TUTBKM BOHUW Mi3HANKCS, IO BIJOMUN Xipypr MepeixaB 0 IXHBOTO
MiCTa, BOHU MIBHUJKO HAWHsUIA WOTO HA POOOTY B KIIIHIKY, 3alpONOHYBaBIIA

XOPOIITy 3apIuiary.

Task 5. Scan the text. Put the main ideas (A — E) in the same order as
they are in the text:
A. Establishing Ford Motor Company.

B. Being hired as an engineer for the Edison Illuminating company.
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C. Ford displayed his engineer talent for the first time.
D. Introducing assembly line technique.

E. Taking apprenticeship as a machinist.

Henry Ford

Famed automobile manufacturer Henry Ford (1863-1947) was born on his
family's farm in Wayne County, near Dearborn, Michigan. When Ford was 15
years old, his father gifted him a pocket watch, which the young boy promptly took
apart and reassembled. Friends and neighbors were impressed, and requested that
he fix their timepieces too.

Unsatisfied with farm work, Ford left home the following year, at the age of
16, to take an apprenticeship as a machinist in Detroit. In the years that followed,
he would learn to skillfully operate and service steam engines, and would also
study bookkeeping.

In 1888, Ford married Clara Ala Bryant and briefly returned to farming to
support his wife and son, Edsel. But three years later, he was hired as an engineer
for the Edison Illuminating Company. In 1893, his natural talents earned him a
promotion to chief engineer.

All the while, Ford developed his plans for a horseless carriage, and in 1896,
he constructed his first model, the Ford Quadricycle. Within the same year, he
attended a meeting with Edison executives and found himself presenting his
automobile plans to Thomas Edison. The lighting genius encouraged Ford to build
a second, better model.

In 1903, Henry Ford established the Ford Motor Company. Ford introduced
the Model T in October of 1908, and for several years, the company achieved 100
percent gains.

However, more than for his profits, Ford became renowned for his
revolutionary vision: the manufacture of an inexpensive automobile made by

skilled workers who earn steady wages.
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In 1914, he sponsored the development of the moving assembly line
technique of mass production. Simultaneously, he introduced the $5-per-day wage
(about $110 at present) as a method of keeping the best workers loyal to his
company. Simple to drive and cheap to repair, half of all cars in America in 1918
were Model T's.

From a social perspective, Henry Ford's was marked by seemingly
contradictory viewpoints. In business, Ford offered profit sharing to select
employees who stayed with the company for six months and, most important, who
conducted their lives in a respectable manner.

Ford was also an ardent pacifist and opposed World War 1, even funding a
peace ship to Europe. Later, in 1936, Ford and his family established the Ford
Foundation to provide ongoing grants for research, education and development.
But despite these philanthropic leanings, Ford was also a committed anti-Semite,
going as far as to support a weekly newspaper, The Dearborn Independent, which

furthered such views.

Task 6. Read the text again to find answers to the following questions:
What family was Ford born into?

What trades did he master after leaving home?

Why did he have to return to farming?

What helped his promotion at the Edison Illuminating Company?
What made Henry Ford renowned?

In what way did he socially support his workers?

N o g bk~ W bhEe

Why can some of his viewpoints be called contradictory?

Task 7. Say what the following numbers from the text are associated
with:
16; 1888; 1863; 1914; 110; 1936; 1918; 100; 1903; 1947.
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Task 8. Rearrange these lines to describe Henry Ford’s life and activities

in the chronological order. Then reproduce them by memory:

(
(
(

N e e e

)
)
)

N N N N N

Ford sponsored the development of the assembly line.

He married Clara Ala Bryant.

Ford was hired as an engineer for the Edison Illuminating Company.
He returned to farming to support his family.

Henry Ford was born on his family's farm in Michigan.

Half of all cars in America were Model T's.

He established the Ford Motor Company.

He took an apprenticeship as a machinist studying simultaneously
bookkeeping.

He established the Ford Foundation to provide ongoing grants for
research, education and development.

He constructed the first model of the Ford automobile.
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TEST 3 (Units 21-30)

Choose the best word to fill each gap:

1.

From an early age, Edison developed a severe ... .

a) blindness

b) character

c) deafness

d) temper

Having a talent for business Edison spent his extra ... on research.
a) energy

b) attention

c) abilities

d) income

The Wright brothers used funds from ... to start testing their first aeroplanes.
a) their father

b) the bicycle shop

c¢) working in church

d) shoe repair shop

Galileo was sentenced to ... imprisonment for his support of the Copernican
theory.

a) long

b) durable

c) live

d) life

Galileo was born in a poor but ... family.

a) big

b) merry

C) noble

d) famous

Steven Jobs travelled to india in search of ... enlightment.

a) spiritual
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b) philosophic

c) psychedelic

d) scientific

. Louis Pasteur is well known for his outstanding ... in medicine.

a) vaccines

b) pasteurization process

C) views

d) breakthroughs

. Pasteur’s discoveries help fighting and ... many dangerous diseases.
a) causing

b) immunization

c) damaging

d) preventing

. Paracelsus ... his colleagues by lecturing in German instead of Latin in order
to make medical knowledge more accessible to the common people.
a) angered

b) angry

C) annoy

d) upset

10.Paracelsus’ aid to villages during the ... in the 16" century was for many an
act of heroism.

a) repression

b) plague

C) genocide

d) sickness

11.Nobel’s greatness lay in his outstanding ability to combine the qualities of

an original scientist with those of a ... industrialist.
a) hard-working
b) forward-looking

c) ambitious
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d) easy-going
12.According to Nobel’s ... the capital was to be safely invested to form a fund.
a) wish
b) desire
c) will
d) words
13.Einstein ... his well-known equation suggesting that tiny particles of matter
could be converted into huge amount of energy.
a) produced
b) reduced
c) submitted
d) deduced
14.Scientists call the property of giving out powerful rays ... .
a) radium
b) radioactivity
c) radius
d) radioactive
15.Ford is renowned for his revolutionary ... : the manufacture of an
inexpensive automobile made by skilled workers who earn steady wages.
a) gains
b) vision
C) position

d) results

Match the sentences halves:

16.

Edison described his invention |a. |which focused on accessibility,
methods as involving appealing design and innovation
features.

17,

The climate of intellectual | b. |inspiring him to do something for
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creativity in the Wright family

incurable diseases.

18. | By inventing the world’s first in the form of prizes to those who,
telescope during the  previous vyear,

contributed greatly to humankind.

19. | Jobs promoted the development of he received the award for his
a new wave of Apple products explanation of the photoelectric

effect.

20. | Pasteur’s personal losses left a the French government gave him a
deep scar within him very little salary as a reward.

21. | Paracelsus was one of the first a lot of hard work, repeated trial
medical professors to recognize and error until a method was

successful.

22. | The interests on Nobel’s fund is to to provide ongoing grants for
be distributed annually research, education and

development.

23. | Because Einstein’s theory of encouraged the brothers to pursue a
relativity was considered range of interests and studies.
controversial

24. | In spite of the honour Pierre Curie Galileo was able to make many
had brought to France by his exploration of the universe.
discoveries

25. | Ford and his family established that physicians required solid

the Ford Foundation

academic knowledge in the natural

sciences.

Choose the correct answers to the following questions:

26. Which of the following was not invented by Edison?

a) the motion picture camera

b) the telephone
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c) the electric light bulb
d) the electric power station
27. Why were the Wright brothers reluctant to reveal too much about their test
flights?
a) they disliked reporters
b) they were too modest
c) they were afraid of competitors
d) they wanted to receive successful patents to make their aircraft
commercially viable
28. What was Galileo convicted of?
a) heresy
b) robbery
¢) murder
d) lie
29. Why did Jobs have to resign and leave Apple?
a) he did not want to work for a big company
b) he did not cope with his managerial duties
c) there was increased friction between him and other workers
d) he hated routine work
30. What do we call pasteurization?
a) liquid contamination
b) germ killing process
) micro-organisms infecting animals
d) preventing infectious diseases
31. What approach did Paracelsus take?
a) that humans must have certain balances of germs
b) that humans must have certain balances of liquid
¢) that humans must have certain balances of toxic substances
d) that humans must have certain balances of minerals

32. In which field is not the Nobel Prize given?
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a) literature
b) economics
c) physics
d) arts
33. Why did Einstein have to leave Germany?
a) because he was not well-paid
b) he was offered a position at a prestigious University
c) because of the Nazis’ law barring Jews from holding any official
positions, including teaching at universities
d) because his marriage fell apart
34. How many times was Marie Curie awarded with the Nobel Prize?
a)l
b) 2
c)3
d) 4
35. Who did not Ford offer profit sharing?
a) best workers loyal to his company
b) those who stayed with the company for six months
c) who conducted their lives in a respectable manner

d) his competitors
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